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Note :
1. Part ‘A’ may be attempted in first 6 pages of Answer Sheet.
T ‘5" & T TR, FOR-gfeT & e 6 8 3 & a €
2. Part 'B'in rest of the Sheets of Answer Sheet
oI @’ 3 SR, SR-gfi & e 99 g8t A el

3. Answers may be given in English or Hindi.

TEET % SR el srEr = § AR _/
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Part ‘A’

Attempt any ten questions: (10x2= 20)
(1) Wirite advantages of piggybacking.

(2), Define checksum.

(3) Write two advantages of star topology.

(4), State difference between public key and private key in cryptography.
(5) What is the difference between logical and physical addressing?

(8) The first field in token ring frame is

(7) Differentiate between unicast and multicasting.

(8), How single bit error differ from burst error.

(9), Which layer controls the flow control in network.

(10y What is the minimum and maximum frame size in terms of bytes of Ethernet 802.3
standard.

(11} Compare the various packet switching techniques available.

(12), State four network applications.

(13) Write the function of MAC sublayer.

(14)  Write any four popular wireless technologies.

(15) Mention the main function of DNS.

Attempt any five of the following questions: (5 x 4 =20)
(1) Compare between circuit and message switching.
(2) Explain different types of multiplexing.

1/4



TTN .’ |

(3) Differentiate between analog and digital fransmission.
(4) Wirite principle of operation of optical fibre.

(5) Describe UDP header format. Also explain its features.
(6) What are different types of errors?

(7) Explain the functional operation of firewall in networking.

(8) What is socket in transport layer? Write its types along with function.

PART-B
Attempt any 3 of the following questions : (3x20=60).
3. (a) Listthesimilaritiesand dissimilarities between OSI and TCP/IP model.
(b) Explainthe working of stop and wait data link protocol.

4. (a) Differentiate between LAN, WAN, MAN with example of each.
(b) Whatis ISDN? Describe in brief the services provided by it.

5. (a) Bringoutdifference between router, bridge, repeater and gateway.
(b) With neat diagram describe ATM architecture.

6. (a) Whatisthe purpose ofrrouting? Explain flooding algorithm of routing in detail.
(b) Whatis FDDI? Explain its working along with its frame format.

7. (a) Explainindetail bus and star topology. Write the advantages of star topology over bus
‘topology. Which type of network will prefer star topology?

(b) Define traffic shaping. Explain the token bucket approach for traffic shaping. How itis
different from leaky bucket approach. ‘
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1. Freafomea ¥ 3 R o0 wesii & wo dRm (10x2=20)

(1) TSt & oy fiRkad

(2) =P 6t aRumr HIRA

(3) ¥R AR F g @ ik

(4) foreemdt & ‘ufsees B Ger ‘Ugde B’ A R WE HIRR

(5) et oo MNerp TR § aFeR T

(6) < R % o mem dies &

(7) IR TUT Hediore ¥ 3R WE HiRE

(8) Ryet fie TR =¥ TR W fohay R sy £ 72

(9) Ficadh H Tl HgIeT Y i HY AR SBeTel FRal 7

(10) msoz.swﬁwmmwmmﬁmﬁm%?

(11) Sueey faftsr Yope Rl qaier 6 germ HIRR

(12) TR Scad ST = |

(13) MAC HeelR & &R fiRad

(14) {5 TR ASh aEReT St & T Rk

(15) DNS @1 T arf g

2. gl ufa nedl & SR fiRawl | (5x4=20)
(1) aﬁzwﬂ%%ﬁvﬁwﬁm|
(2) TP YHR 6t TeeiwifRa 6 e SRl
(3) feforea o Gre gieter & sFeR wuE IR
(4) I<ihet wISER i o o1 g Rikad
(5) UDP X BhIR¥C o1 quiF HIfvrY | 5% hrert ot oft e HIfvRY |
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(6) R WP oo vt 47
(7)Y ¥ wrarer 8t aeester Brara ) R SRR
(8) IR e ¥ WfRbe w2 hrerr &y e s Faftet e e

=i ot wesit &5 wem RN | (3x20=60)

3. (a)
(b)

4. (a)
(b)
5. (a)
(b)
6. (a
(b)
7. (a)

(b)

OSI =1 TCP/IP wieet 3 Famem e fifterand fRad |
N RT3 32T 31 Tt & &t <t s v

LAN, WAN, MAN ¥ 3R U@ & IcTaxol & 12 §arsd|
ISDN &7 § 7 9% gRT <1 Tt el ot wifdre frexor foRadl |

IHer, faor, Rdier qer ed 3 smR 9asd |
ATM anfheaar &1 favor s R & Qg fifvd|

AT BT I FIT8? T 3 FaAfST TemiRem Pt Rk fRde BRI
FDDI 71 &7 5% 9 BRiT & a1 369 o &t e S

T T R el & R R BIRRY S Saieft Y e 3 TR et % A
RRae | P Y TBR & g § TR ISl Bt SgR AT S & 2

Hirep Aifti BT gReTo HIFR It AT & ford e afthe T &t e Hifv | ag fidht
e anira A g TR A= 8 2
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